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There is a of 15 minutes in addition to the writing time.

Use the to get familiar with questions and to plan your answers.

Read questions carefully before answering.

Read the instructions carefully.

Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the Exam-
ination hall.

\nÀ-±n-ã- k-a-b-¯n-\v ]p-d-sa 15 an-\n-äv "IqÄ Hm-^v ssSw' D-ïm-bn-cn-¡pw.

"IqÄ Hm-^v ssSw' tNm-Zy-§Ä ]-cn-N-b-s]Sm\pw D-¯-c-§Ä B-kq-{X-Ww sN-¿m\pw 
D-]-tbm-Kn-¡p-I.

D-¯-c-§Ä F-gp-Xp-¶-Xn-\v ap-¼v tNm-Zy-§Ä {i-²m-]qÀ-Æw hm-bn-¡Ww.

\nÀ-t±-i-§Ä ap-gp-h\pw {i-²m-]qÀ-Æw hm-bn-¡Ww.

IW-¡v Iq-«-epIÄ, Nn-{X§Ä, {Km-^p-IÄ F¶n-h D-¯-c-t]-¸-dnÂ X-s¶ D-ïm-bn-cn-
¡Ww.

tNm-Zy-§Ä a-e-bm-f-¯nepw \Â-In-bn-«pïv.

B-h-iy-ap-Å Øe-¯v k-a-hm-Iy-§Ä sIm-Sp-¡Ww.

t{]m-{Km-ap-IÄ sN-¿m-\m-Im-¯ ImÂ-¡p-te-ä-dp-IÄ H-gn-sI-bp-Å H-cp C-e-{Îm-Wn-Iv 
D-]-I-c-Whpw ]-co-£m-lm-fnÂ D-]-tbm-Kn-¡p-hm³ ]m-SnÃ.

General Instructions to Candidates:

hnZymÀ-°n-IÄ-¡p-Å s]m-Xp\nÀ-t±-i-§Ä:
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16 Two dice are thrown simultaneously. Find 
the probability that  

i. Sum appears on the dice is 7 
ii. Sum appears on the dice is a  

multiple of 4 
 

 
 
(2) 
(2) 

 
 
 

Questions 17-20 carry 6 scores each.  
Answer any Three 

 

 
 

17 i. Let = {2,3,4}  = {3,5}.  
Find A X B 
 

ii. Consider the relation R:A B by R= 
{( , ): = + 1}. Write R in roster form 
and find the domain and range of R. 
 

iii. Draw the graph of f(x)= x+2  
 

 

 
(1) 
 
(3) 
 
 
(2) 

18  i. If  sin =
 
 , x lies in the third quadrant, 

then verify that sec2x -tan2x = 1 
 

ii. Simplify   
 

 

 

(3) 

 
(3) 

 

19       Consider the GP  3,
 
 ,

 
 , … ….  

i. Find the common ratio and 10th term  
 

ii. Find the sum of the first 10 terms of 
the above GP 

 

iii. Which term of the above GP is  
  

 ? 

 

 
 

(2) 
 

(2) 
 
 

(2) 

   
20 Find the mean and variance of the 

following data 

Class 15-25 25-35 35-45 45-55 55-65 

Frequency 

 
8 12 15 9 6 

      
 

 
(6) 

 

 
16 

 
c-ïp ]-In-S-§Ä H-cp-an-¨v F-dn-bp-¶p.  

i. A-h-bp-sS XpI 7 Dw 

ii. A-h-bp-sS Xp-I 4sâ Kp-Wn-Xhpw             
B-hm-\p-Å km[y-X I-ïp-]n-Sn-¡pI. 
 
 
 

 
(2) 
 
(2) 

 

17 ap-XÂ 20 h-sc-bpÅ tNm-Zy-¯n-\v G-sX-¦n-epw     

3 F-®-¯n-\v D- -̄c-sa-gp-Xp-I. 6 kv-tImÀ ho-Xw. 
 
 

 
 

17 

 

 i.  = {2,3,4}  = {3,5}.  A x B          
     I-ïp-]n-Sn-¡pI.  

 ii. dn-te-j³  ]-cn-K-Wn-¡pI.  
      R= {( , ): = + 1}. R F¶-Xv tdm-kv-äÀ     
    t^m-anÂ F-gp-Xp-I. A-Xn-sâ sUm-sa-bv³,     
    td-©v F¶n-h F-gp-XpI.  
 

iii.  F-¶ ^-Mvj-sâ {Km-^v  
       h-c-¡pI. 

 

 

 
(1) 
 
(3) 
 
 
(2) 

 
 

18  

 

i. sin =
 
  F-¶Xv 3þma-s¯ N-XpÀ-°m-a-

[y-¯nÂ Øn-Xn sN-¿p-Ibpw B-sW-¦nÂ 

sec2x -tan2x = 1 F-¶v sX-fn-bn-¡pI. 

ii. e-Lq-I-cn-¡pI.   

 

 

 
(3) 

 
(3) 

 
19 

 

3,
 
 ,

 
 , …F-¶ tPym-a-{Sn-Iv t{i-Wn-bnÂ  

i. s]m-Xp-Kp-Wn-X-hpw, 10þmw ]-Zhpw    
I-ïp-]n-Sn-¡pI.  

ii. ap-I-fn-se t{i-Wn-bp-sS B-Zy-s¯    
10 ]-Z-§-fp-sS Xp-I ImWp-I 

iii. ap-I-fn-se t{i-Wn-bp-sS F-{Xma-s¯            

]-Z-amWv 
  

? 

 

 
 
(2) 
 
(2) 
 
(2) 

   
20 a-[yhpw th-cn-b³kpw I-ïp-]n-Sn-¡pI.  

¢m-Êv  15-25 25-35 35-45 45-55 55-  
{^o-Iz-
³kn  8 12 15 9  

      
 

 
(6) 
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Questions 1 to 8 carry 3 scores each.  
Answer any Six 

 
 

1 Let  = {2,3,7,8}, = {1,3,5,7}   
= {1,2,3,4, 5,6,7,8}  

 
i. Find A-B and B’ 
ii. Verify that A-B= A B' 

 
 

 
 
 

 
(2) 
(1) 
 

 
2 i. Convert 750 into radian measure 

ii. Find the value of cos 750 
(1) 
(2) 
 

 
3 

 
If  nC2  : nC4 =  3:5, Find n  
 
 

 
(3) 
 

 

 
 

4 i. Write the number of terms in  

ii. Expand  

 
 
 

 

(1) 
 
(2) 
 

 

5 i. Find the x-intercept and y-

intercept of the line  + = 1    
 

ii. Find the distance from the origin to the 

line  + = 1    
 

 

 

(1) 
 
 
(2) 

6 Find the derivation of cos x using first 
principle method 

 

(3) 
 
 

 

7 i. If lim = 80, Find the value of a 

 
ii. Evaluate lim  ( 2 + 4)  

 
 

 
(2) 
 
(1) 
 

8 i. Find the arithmetic mean of the 
following data 5,8,7,6,9,7 
 

 

ii. Compute the mean deviation about 
mean of the above data 
 

 

(1) 
 
 
(2) 
 
 

 

Questions 9-16 carries 4 scores each.  
Answer any Six 

 
 

9 Let A= 
:     

    10  

 

i. Write A in roster form 
ii. Write all subsets of A 
iii. Find the number of subsets of A 

 
 
 
 

 

 
 
(1) 
(2) 
(1) 

10 Write in a+ib form  
i. (2+3i) (1+4i) 

ii.  
 

 
 

 
(2) 
(2) 

 

11 i. Solve 2(x+3)-10  ≤  6(x-2) for real x 
 

ii. Write the solution in interval form 
iii. Draw the graph of the above solution 

 
 

 

(2) 
 

(1) 
(1) 
 

12 i. Write the number of arrangements of 
the letters of the word 
‘COMBINATIONS’  
 

ii. There are 7 bowlers and 8 batsmen in a 
cricket camp. Find the number of ways 
of selecting 5 bowlers and 6 batsmen? 

 
 

 

(2) 
 
 
 

(2) 

13 i. Find the slope of the line passes 
through (1,2) and (3,-2) 

ii. Find the equation of the line 
perpendicular to the above line and 
passes through the mid point of (1,2) 
and (3,-2) 
 

 

 

(1) 
 
(3) 

14 i. The point of intersection of XY-  plane, 
YZ-plane  and XZ-plane is …….. 
 

ii. Show that the points (0,0,0), (3,0,0) and 
(0,4,0) form a right angled triangle  

 
 

 

(1) 
 
 
(3) 

15 Find the vertices, foci, eccentricity and 
latus rectum of the  

hyperbola 
  

= 1 
 

(4) 

 

 1 ap-XÂ 8 h-sc-bpÅ tNm-Zy-¯nÂ G-sX-¦n-epw  

6 F-®-¯n-\v D -̄cw F-gp-Xp-I. 3 kv-tImÀ ho-Xw. 
 
 

 

1  = {2,3,7,8}, = {1,3,5,7}     
 = {1,2,3,4, 5,6,7,8} B-bmÂ 
 

i. A-B and B’ C-h I-ïp-]n-Sn¡p-I 
 

ii. A-B= A B' BtWm F-¶v  

]cn-tim-[n¡pI. 
 

 
 
 

(2) 
 

(1) 

 

2 
 

i. 750 bp-sS td-Un-b³ hn-e F-gpXp-I 
 

ii. cos 75o bp-sS hn-e I-ïp-]n-Sn-¡pI.   
 

 
(1) 
(2) 

 
3 

 

 nC2  : nC4 = 3:5BbmÂ,  nsâ hn-e  
I-ïp-]n-Sn-¡pI. 

 

 
(3) 

 
 

4 

 

i.  F-¶ hn-]p-eo-I-c-W-¯nÂ      

]-Z-§-fp-sS F-®w F-{X?  
 

ii.  F¶-Xv hn-]p-eo-I-cn-¡pI. 

 

 

 
(1) 
 
 
(2) 

 
5 

 

i.   + = 1    F-¶ h-c-bp-sS k-a-hm-Iy-̄ nÂ 

x C³-sk-]v-äv, y CâÀ-sk-]v-äv F¶n-h I-ïp-
]n-Sn-¡pI. 

ii. B-[m-c-_n-µp-hnÂ \n-¶v   + = 1 F-¶ 

h-c-bn-te-¡p-Å Zq-cw I-ïp-]n-Sn-¡pI. 
 

 

 
(1) 
 
 
 
(2) 

 
6 

     
^Ìv {]n³-kn-¸Ä co-Xn D-]-tbm-Kn¨v    

cos xsâ sU-dn-th-äo-hv Im-WpI..  
 

 
 
(3) 
 

 
7 

 

i. lim = 80, B-bmÂ 'a' bp-sS  

hn-e Im-Wp-I.  
 

ii. lim ( 2 + 4) F¶-Xv hn-e-bn-cp-¯pI. 

 

 
(2) 
 
(1) 

 

 

8 
 

i. 5,8,7,6,9,7 F-¶o hn-e-I-fp-sS A-cn-X-sa-än-Iv 
ao³ (i-cm-icn) I-ïp-]n-Sn-¡pI.  
 

ii. ap-I-fnÂ X-¶ hn-e-I-fp-sS ao³ Uo-hn-tb-
j³ F-_u-«v ao³ I-ïp-]n-Sn-¡pI. 

 
 

 
(1) 
 
(2) 

 

 

9 ap-XÂ 16 h-sc-bpÅ tNm-Zy-¯n-\v Hm-tcm-¶n-\pw    

4 amÀ-¡v hoXw. G-sX-¦n-epw 6 F-®w F-gp-XpI. 
 

 
 

9 
 

A={ :  F¶-Xv A-`m-Py kw-Jy 10 t\-¡mÄ 

sN-dpXv}  
 

i. A F¶-Xv tdm-kv-äÀ cq-]-¯nÂ F-gp-XpI.  

ii. A bp-sS FÃm D-]-K-W-§fpw F-gp-XpI. 

iii. A bp-sS D-]-K-W-§-fp-sS F-®w F{X 
 

 
 
 
(1) 
(2) 
(1) 

 
 
 

10 

 
 
 

(a+ib) F-¶ cq-]-¯nÂ F-gpXpI 
i. (2+3i) (1+4i) 
ii.  

 

 
 
(2) 
(2) 

 
 

11 
 

i. 2(x+3)- -2) hn-sâ ]-cn-lm-cw  
Im-WpI. 

ii. ]-cn-lmcw CâÀ-shÂ cq-]-¯nÂ F-gpXp-I 

iii. ]-cn-lm-c-¯n-sâ {Km-^v h-c¡pI. 
 

 
(2) 
 

(1) 
(1) 
 

 

12 
 

i. ‘COMBINATIONS’ F-¶ hm-¡n-se 
FÃm A-£-c-§-fpw D-]-tbm-Kn-¨v F-{X 
s]À-aq-t«-j³-kv cq-]o-I-cn-¡p-hm³ I-gn-bpw.  
 

ii. H-cp {In¡-äv Iym-¼nÂ 7 _u-fÀ-am-cpw,     
8 _m-äÀ-amcpw Dïv. C-h-cnÂ \n-¶v F-{X  
co-Xn-bnÂ 5 _u-fÀ-am-sc-bpw 6 _m-äÀ-am-
scbpw sX-c-sª-Sp-¡p-hm³ km-[n-¡pw? 

 

 
(2) 
 
 
(2) 

 
 

13 
 

i. (1,2) , (3,-2) F-¶o _n-µp-¡-fn-eq-sS I-S¶p-
t]m-Ip-¶ h-c-bp-sS sN-cn-hv I-ïp-]n-Sn-¡pI. 
  

ii. ap-I-fnÂ ]-d-ª hc-¡v ew-_-hpw (1,2),(3,-2) 
F-¶n-h-bp-sS a-[y-_n-µp-hn-eq-sSbpw I-S¶p-
t]m-Ip-¶-Xpam-b h-c-bp-sS   k-a-hmIyw    
F-gp-XpI. 

 
 

 
(1) 
 
(3) 

 
 

 

14 
 

i. XY- s¹-bn³, YZ- s¹-bn³, XZ- s¹-bn³ 
F¶n-h Iq-«n-ap-«p-¶ _n-µp-hm-Wv ................ 
 

ii. (0,0,0), (3,0,0) , (0,4,0)  F-¶o _n-µp-¡Ä 
H-cp a-«-{Xn-tIm-W-¯n-sâ ioÀ-j-§Ä    
B-sW-¶v sX-fn-bn-¡p-I. 

 
 

 

 
(1) 
 
(3) 

 

15 
 

  
= 1 F¶ ssl¸À-t_m-f-bpsS, 

shÀ-«n-skkv, t^m-¡kv, F-Iv-k³-{Sn-knän, 
emä-kv sd-Îw F¶n-h I-ïp-]n-Sn-¡p-I. 
 
 

 
(4) 



 

Questions 1 to 8 carry 3 scores each.  
Answer any Six 

 
 

1 Let  = {2,3,7,8}, = {1,3,5,7}   
= {1,2,3,4, 5,6,7,8}  

 
i. Find A-B and B’ 
ii. Verify that A-B= A B' 

 
 

 
 
 

 
(2) 
(1) 
 

 
2 i. Convert 750 into radian measure 

ii. Find the value of cos 750 
(1) 
(2) 
 

 
3 

 
If  nC2  : nC4 =  3:5, Find n  
 
 

 
(3) 
 

 

 
 

4 i. Write the number of terms in  

ii. Expand  

 
 
 

 

(1) 
 
(2) 
 

 

5 i. Find the x-intercept and y-

intercept of the line  + = 1    
 

ii. Find the distance from the origin to the 

line  + = 1    
 

 

 

(1) 
 
 
(2) 

6 Find the derivation of cos x using first 
principle method 

 

(3) 
 
 

 

7 i. If lim = 80, Find the value of a 

 
ii. Evaluate lim  ( 2 + 4)  

 
 

 
(2) 
 
(1) 
 

8 i. Find the arithmetic mean of the 
following data 5,8,7,6,9,7 
 

 

ii. Compute the mean deviation about 
mean of the above data 
 

 

(1) 
 
 
(2) 
 
 

 

Questions 9-16 carries 4 scores each.  
Answer any Six 

 
 

9 Let A= 
:     

    10  

 

i. Write A in roster form 
ii. Write all subsets of A 
iii. Find the number of subsets of A 

 
 
 
 

 

 
 
(1) 
(2) 
(1) 

10 Write in a+ib form  
i. (2+3i) (1+4i) 

ii.  
 

 
 

 
(2) 
(2) 

 

11 i. Solve 2(x+3)-10  ≤  6(x-2) for real x 
 

ii. Write the solution in interval form 
iii. Draw the graph of the above solution 

 
 

 

(2) 
 

(1) 
(1) 
 

12 i. Write the number of arrangements of 
the letters of the word 
‘COMBINATIONS’  
 

ii. There are 7 bowlers and 8 batsmen in a 
cricket camp. Find the number of ways 
of selecting 5 bowlers and 6 batsmen? 

 
 

 

(2) 
 
 
 

(2) 

13 i. Find the slope of the line passes 
through (1,2) and (3,-2) 

ii. Find the equation of the line 
perpendicular to the above line and 
passes through the mid point of (1,2) 
and (3,-2) 
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(3) 

14 i. The point of intersection of XY-  plane, 
YZ-plane  and XZ-plane is …….. 
 

ii. Show that the points (0,0,0), (3,0,0) and 
(0,4,0) form a right angled triangle  
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15 Find the vertices, foci, eccentricity and 
latus rectum of the  

hyperbola 
  

= 1 
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10 
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B-h-iy-ap-Å Øe-¯v k-a-hm-Iy-§Ä sIm-Sp-¡Ww.

t{]m-{Km-ap-IÄ sN-¿m-\m-Im-¯ ImÂ-¡p-te-ä-dp-IÄ H-gn-sI-bp-Å H-cp C-e-{Îm-Wn-Iv 
D-]-I-c-Whpw ]-co-£m-lm-fnÂ D-]-tbm-Kn-¡p-hm³ ]m-SnÃ.

General Instructions to Candidates:

hnZymÀ-°n-IÄ-¡p-Å s]m-Xp\nÀ-t±-i-§Ä:

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

.

 

16 Two dice are thrown simultaneously. Find 
the probability that  

i. Sum appears on the dice is 7 
ii. Sum appears on the dice is a  

multiple of 4 
 

 
 
(2) 
(2) 

 
 
 

Questions 17-20 carry 6 scores each.  
Answer any Three 

 

 
 

17 i. Let = {2,3,4}  = {3,5}.  
Find A X B 
 

ii. Consider the relation R:A B by R= 
{( , ): = + 1}. Write R in roster form 
and find the domain and range of R. 
 

iii. Draw the graph of f(x)= x+2  
 

 

 
(1) 
 
(3) 
 
 
(2) 

18  i. If  sin =
 
 , x lies in the third quadrant, 

then verify that sec2x -tan2x = 1 
 

ii. Simplify   
 

 

 

(3) 

 
(3) 

 

19       Consider the GP  3,
 
 ,

 
 , … ….  

i. Find the common ratio and 10th term  
 

ii. Find the sum of the first 10 terms of 
the above GP 

 

iii. Which term of the above GP is  
  

 ? 

 

 
 

(2) 
 

(2) 
 
 

(2) 

   
20 Find the mean and variance of the 

following data 

Class 15-25 25-35 35-45 45-55 55-65 

Frequency 

 
8 12 15 9 6 

      
 

 
(6) 

 

 
16 

 
c-ïp ]-In-S-§Ä H-cp-an-¨v F-dn-bp-¶p.  

i. A-h-bp-sS XpI 7 Dw 

ii. A-h-bp-sS Xp-I 4sâ Kp-Wn-Xhpw             
B-hm-\p-Å km[y-X I-ïp-]n-Sn-¡pI. 
 
 
 

 
(2) 
 
(2) 

 

17 ap-XÂ 20 h-sc-bpÅ tNm-Zy-¯n-\v G-sX-¦n-epw     

3 F-®-¯n-\v D- -̄c-sa-gp-Xp-I. 6 kv-tImÀ ho-Xw. 
 
 

 
 

17 

 

 i.  = {2,3,4}  = {3,5}.  A x B          
     I-ïp-]n-Sn-¡pI.  

 ii. dn-te-j³  ]-cn-K-Wn-¡pI.  
      R= {( , ): = + 1}. R F¶-Xv tdm-kv-äÀ     
    t^m-anÂ F-gp-Xp-I. A-Xn-sâ sUm-sa-bv³,     
    td-©v F¶n-h F-gp-XpI.  
 

iii.  F-¶ ^-Mvj-sâ {Km-^v  
       h-c-¡pI. 

 

 

 
(1) 
 
(3) 
 
 
(2) 

 
 

18  

 

i. sin =
 
  F-¶Xv 3þma-s¯ N-XpÀ-°m-a-

[y-¯nÂ Øn-Xn sN-¿p-Ibpw B-sW-¦nÂ 

sec2x -tan2x = 1 F-¶v sX-fn-bn-¡pI. 

ii. e-Lq-I-cn-¡pI.   

 

 

 
(3) 

 
(3) 

 
19 

 

3,
 
 ,

 
 , …F-¶ tPym-a-{Sn-Iv t{i-Wn-bnÂ  

i. s]m-Xp-Kp-Wn-X-hpw, 10þmw ]-Zhpw    
I-ïp-]n-Sn-¡pI.  

ii. ap-I-fn-se t{i-Wn-bp-sS B-Zy-s¯    
10 ]-Z-§-fp-sS Xp-I ImWp-I 

iii. ap-I-fn-se t{i-Wn-bp-sS F-{Xma-s¯            

]-Z-amWv 
  

? 

 

 
 
(2) 
 
(2) 
 
(2) 

   
20 a-[yhpw th-cn-b³kpw I-ïp-]n-Sn-¡pI.  

¢m-Êv  15-25 25-35 35-45 45-55 55-  
{^o-Iz-
³kn  8 12 15 9  

      
 

 
(6) 


